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By 3% SFI07T4E08 H 16 H EERS ¢ 149 b (Biir)
fh 4 JE Hh = (Mo | E=E i fiE T fE g2y ]

IENE AbE 10. 00| AHxf 390 3,900 2,160 1,523 1,080
H X k¥ 15. 00 | ¥ 615 9,225| 3,672 2,203 54
X 5D BOE 10. 00 | AH%F 1, 150 11,500 1,177 893 205
H % ol 3. 00| FH%f 168 504 1,944| 1,500 1,080
i A ] 1L 1. 00| FHxf 250 250 864 739 540
ENIE sool /A%t 7| 35| 3,240| 3,086 2,700
AN ™5 5. 00| FHx%f 442 2,210| 2,052 1,720 1,188
I 0.50| fxt| 3,863] 1,936] 162 7| 97
N 0.40| fxt| 2,310 936|  173] 60| 97
= O 4. 00| AHxf 1, 863 7,452 1,836| 1,454 756
[ I\ w5 5. 00| FH%f 245 1,225 2,700 2,093| 1,350
EN N 5.00[ #A%k|  1,804] 9,020 2,484| 1,942 1,188

-~ =% 0. 15| FHxf 8, 400 1, 261 97

(= AbiEiE 0. 10| #H%f 20 2 270
= o | o.00 Fxt| 4] sl ] 0,700

= It JE 0. 50 | FHx} 60 30 292
H ik w5 5. 00 | FHxt 120 600| 1,944 1,710| 1,512
FEEnsE AbifEE 10. 00 | #H%f 50 500 2,700| 2,441 2,376
E ¥ AbifEE 10. 00 | #B56f 196 1,960 5,400 4,893| 4,320
£ A L 10. 00 [ ¥ 705 7,050 2,214| 1,599 1,296
LA R 5 % 10. 00 | #H%f 1,755 17,550 2,322 1,208| 1,080
==L H A £ ¥ 4. 00| FHxf 1, 405 5,620 2,592| 1,241 648
T AR % 0. 10| FH%} 2, 828 285 227 113 86
AEHEE w5 0. 10| #Hxf | 2,050 205 151 94 65
ZDEH E % 0. 20| FA%F 1, 200 240 54 49 43

LU &k B 0. 20 | FHxf 150 30 70
AA ha— 5 % 5. 00| FA%F 406 2,030 1,544| 1,224 864
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RHE SFI07T4E08 H 16 H eI Dt e/ 25 kv (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]

sk = 10. 00 | #H%f 489 4,890| 5,940 5,517| 4,320
B | 10,00 fEkF| ol 1,000] 6,480 5,578 3,024
B oK w5 10. 00 | #H%f 100 1,000 6,480 5,756| 4,536

K (AL 5. 00 | FH %} 69 345 5, 940
EOlg & 0. 35 | FHx%f 320 112 335 316 149
B A — % [T 2. 00 | FHx} 22 44| 2,700| 2,553 2,160
AR O 0. 60| FHxf 150 91 540 487 432
BETE 0.30| k%t | 26| o18] a2 379 302




